| number of missing inner layers

10

Rat

<hits> vs n

missing_inner_layers

| number of missing outer layers

missing_outer_layers

1g Entries 22903 1g - — Entries 22903
E Mean 0.1145 E ' ' Mean 2.389
r Std Dev 0.3832 N : Std Dev 2.48
10_1 §_ |_missing_inner_layers 10_1 §_ [ ‘ | _missing_outer_layers
= Entries 22898 = : : Entries 22898
r Mean 0.1145 r : : Mean 2.389
_ Std Dev 0.3832 _ B . Std Dev 2.479
107 E MRS 107 E YT R v :
F missing_inner_layers F . N missing_outer_layers
L Entries 22895 L H .| Entries 22895
3| | Mean 0.1144 ) R I D 1. | Mean 2.391
10 Std Dev 0.3827 10 : + |Std Dev 2.48
: - ] : ; ; : [
I missing_inner_layers o . . missing_outer_layers
—4 L Entries 22868 o PR [ ... Entries 22868
10 E Mean 0.1138 10 E N : | Mean 2.39/
F Std Dev 0.3807 F N . | Std Dev
1073 e 1073 rrrrrrree s AR oo AR
105@_....!....................l....l....l....!.... 01059 L I ||
E i : T r | | L
E 1 : c Bl I S S
0.9 = " 0.95 : :
0 1 2 3 4 5 6 7 8 9 10 0 5 10 15 20 25
— n m —_Global_mKFitbase _RECO
o= DQM_V0001 R000000001__Global__mkFitCHIN__RECO
mean hi{ == DQM_V0001_R000000001__Global__mkFitNDOF__ RECO
= DOM_V0001 R000000001 _Global__mkFitNDOF2__RECO
= Entries 22903
20p
= ] Mean 9.379
18 Std Dev 5.282
: I
3
10 hits
16 Entries 22898
Mean 9.378
14 Std Dev 5.282
..... .I
12 hits
r 102 Entries 22895
Mean 9.377
10 o -| Std Dev 5.283
..... L
Entries
10 lean
Std Dev

Ratio

[T

(L

2 3
track n

10

Rati

num_simul_pT

Entries 143227
R e A Mean 2.096
lo Std Dev 5.929
: I
num_simul_pT
ol ey Entries 143227
107°E Mean 2.096
C Std Dev 5.929
r : I
3 B num_simul_pT
10 P b tries 143227
= Me: 2.096
o Std Dev 5.929
-4 ... e eeeeaaaan A num_simul_pT
10 _E Entries 143227
E Mean 2.096
| Std Dev 5.929
11111111111111111||L||||‘ AL
lmmmmmm||;|||” :
0.95— i . v s
10 1 10 10 P 10
p

o v :
€ F Lt
S A L
Suuniile
09— 5 10 15 20 25 30 35 40
track hits

num_reco_pT
Entries 25380
Mean 0.4794
= Std Dev 1.878
107 M phe Myt T A 1
num_reco_pT
Entries 25377
> Mean 0.4794
10 Std Dev 1.878
: |
num_reco_pT
_3 Entries 25372
10 Mean 0.4794
Std Dev 1.878
num_reco_pT
10_4 Entries 25338
E Mean 0.4788
Std Dev 1.879
10° RO
010% T :
= 1 . .
¢ 1 H H
@ H B H
1 s 20 i ot ERSEER [
0.95 ) * * > 3
10 10 10 10
track p_



	Contents
	Page 1


